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Cuadro 6 (continuación 4)/Table 6 (continued 4)
Colombia: tablas abreviadas de mortalidada

 Colombia: abridged life tables 
a

1990

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.036 0.035  100 000  3 496  97 010 0.960 b 6 458 111 64.6
1 4 0.003 0.013  96 504  1 274  383 152 0.990 c 6 361 101 65.9
5 5 0.001 0.003  95 230   326  475 337 0.996 5 977 949 62.8

10 5 0.001 0.004  94 904   348  473 652 0.990 5 502 613 58.0
15 5 0.003 0.015  94 556  1 460  469 132 0.979 5 028 961 53.2
20 5 0.005 0.027  93 096  2 517  459 190 0.972 4 559 829 49.0
25 5 0.006 0.028  90 580  2 548  446 529 0.973 4 100 639 45.3
30 5 0.005 0.026  88 032  2 328  434 338 0.973 3 654 110 41.5
35 5 0.006 0.028  85 704  2 363  422 611 0.972 3 219 771 37.6
40 5 0.006 0.028  83 341  2 359  410 808 0.970 2 797 160 33.6
45 5 0.007 0.033  80 982  2 634  398 326 0.962 2 386 353 29.5
50 5 0.009 0.044  78 348  3 435  383 154 0.945 1 988 027 25.4
55 5 0.014 0.067  74 913  5 013  362 033 0.920 1 604 873 21.4
60 5 0.020 0.095  69 900  6 628  332 931 0.879 1 242 840 17.8
65 5 0.032 0.150  63 272  9 491  292 634 0.821  909 909 14.4
70 5 0.048 0.214  53 781  11 507  240 139 0.744  617 275 11.5
75 5 0.073 0.310  42 274  13 110  178 597 0.627  377 135 8.9
80 5 0.122 0.465  29 164  13 564  111 912 0.497  198 539 6.8
85 5 0.165 0.573  15 600  8 938  55 657 0.399  86 627 5.6
90 5 0.210 0.666  6 663  4 436  22 223 0.314  30 970 4.6
95 5 0.260 0.745  2 227  1 659  6 985 0.201 d  8 747 3.9

100 ω 0.322 1.000   567   567  1 763  1 763 3.1
Mujeres/Females

0 1 0.029 0.028  100 000  2 786  97 582 0.968 b 7 241 005 72.4
1 4 0.003 0.011  97 214  1 075  386 371 0.992 c 7 143 423 73.5
5 5 0.000 0.002  96 139   233  480 111 0.998 6 757 051 70.3

10 5 0.000 0.002  95 906   192  479 050 0.997 6 276 941 65.4
15 5 0.001 0.004  95 714   344  477 711 0.996 5 797 891 60.6
20 5 0.001 0.005  95 370   469  475 679 0.995 5 320 180 55.8
25 5 0.001 0.005  94 901   521  473 206 0.994 4 844 502 51.0
30 5 0.001 0.007  94 381   626  470 340 0.992 4 371 296 46.3
35 5 0.002 0.009  93 755   838  466 681 0.989 3 900 956 41.6
40 5 0.003 0.013  92 917  1 187  461 618 0.984 3 434 275 37.0
45 5 0.004 0.019  91 730  1 728  454 332 0.976 2 972 657 32.4
50 5 0.006 0.029  90 002  2 632  443 431 0.962 2 518 325 28.0
55 5 0.010 0.047  87 370  4 079  426 651 0.942 2 074 894 23.7
60 5 0.014 0.069  83 291  5 781  402 001 0.910 1 648 243 19.8
65 5 0.024 0.112  77 510  8 659  365 903 0.861 1 246 242 16.1
70 5 0.037 0.170  68 851  11 685  315 043 0.790  880 339 12.8
75 5 0.059 0.259  57 166  14 801  248 828 0.681  565 296 9.9
80 5 0.100 0.401  42 365  16 987  169 358 0.546  316 467 7.5
85 5 0.152 0.543  25 378  13 786  92 424 0.421  147 109 5.8
90 5 0.206 0.658  11 591  7 628  38 886 0.322  54 686 4.7
95 5 0.255 0.738  3 963  2 924  12 505 0.209 d  15 800 4.0

100 ω 0.315 1.000  1 039  1 039  3 294  3 294 3.2

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


